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4 <Model Name> ( INJLAFEAE 1= KPULSE GENERATOR UNIT> )

F2 44 <Model Number> ( MR8791 )

& 7E &K S5 <Serial No.> (No. 190912345 )

BREFEAHTest Date>  ( 2019-09-19 )
<YYYY-MM-DD>

BEZH<Test Conditions> ( 25 °C, 50 %rh )

EH RE HER
<Item)> <{Set Value> <Result>
T ILTF Y <{Self Check>

H 73<Output>
L:0Y y49<Logic> / OC:A—7"vaL94<Open Collector> ch 87654321
ML (0x55) 01010101 ( PASS )
(2) L (OxAA) 10101010 ( PASS )
3) OC (0x55) 01010101 ( PASS )
(4) OC (OxAA) 10101010 ( PASS )
BE#EREFR<Connect Check>
H 73<Output>
L:AY"y9<Logic> / OC:H—7"valL)4<0pen Collector>
1L WIVA<Pulse> 1ch  20,000.0 Hz duty 2.0% ("H”) ( PASS )
(2) L NIVA<Pulse> 2ch  20,000.0 Hz duty 2.1% ("H") ( PASS )
3) L WIVA<Pulse> 3ch 20,0000 Hz duty 50.0% ("H") ( PASS )
4L NIVA<Pulse> 4ch 20,000.0 Hz duty 98.0% ("H") ( PASS )
(5) L WIVA<LPulse>  5ch 1,000.0 Hz duty 0.1% ("H") ( PASS )
(6) L WIVA<Pulse>  6ch 1,000.0 Hz duty 0.2% ("H") ( PASS )
ML WIVA<LPulse>  7ch 1,000.0 Hz duty 50.0% ("H") ( PASS )
8 L NIVA<Pulse>  8ch 1,000.0 Hz duty 99.9% ("H") ( PASS )
(9) OC NIVA<Pulse> 1ch  20,000.0 Hz duty 10.0% ("H™) ( PASS )
(10) OC WIVA<Pulse> 2ch  20,000.0 Hz duty 20.0% ("H") ( PASS )
(11) OC NIVA<Pulse> 3ch  20,000.0 Hz duty 30.0% ("H") ( PASS )
(12) OC WIVA<Pulse> 4ch  20,000.0 Hz duty 50.0% ("H") ( PASS )
(13) OC NIVA<Pulse> 5ch  20,000.0 Hz duty 60.0% ("H") ( PASS )
(14) OC WIVA<Pulse> 6¢ch  20,000.0 Hz duty 70.0% ("H) ( PASS )
(15) OC NIA<Pulse> 7ch  20,000.0 Hz duty 80.0% ("H") ( PASS )
(16) OC WIVA<Pulse> 8ch  20,000.0 Hz duty 90.0% ("H") ( PASS )
a7nL N8-U<Pattern> 1ch  120,000.0 bps 1-0#&iR LN 4—U<Cyclic Pattern> ( PASS )
(18) L N4=U<Pattern> 2ch  120,000.0 bps 1-0#&3R L\ 4—<Cyclic Pattern> ( PASS )
(19) L N8-U<Pattern> 3ch  120,000.0 bps 1-0#&iR LN 4—U<Cyclic Pattern> ( PASS )
(20) L N4—y<Pattern> 4ch  120,000.0 bps 1-0#&iK LN 4—Y<Cyclic Pattern> ( PASS )
(21) OC N—y<Pattern> 5ch  120,000.0 bps 1-0%&3R L/ '4—Y<Cyclic Pattern> ( PASS )
(22) OC N4-U<Pattern> 6ch  120,000.0 bps 1-0#%3& LN 4—<Cyclic Pattern> ( PASS )
(23) OC N4—y<Pattern> Tch  120,000.0 bps 1-0%&3R L/ "4—Y<Cyclic Pattern> ( PASS )
(24) OC N4=U<Pattern>8ch  120,000.0 bps 1-0#&3R L\ 4—<Cyclic Pattern> ( PASS )
#5248 $7E<Overall Result> BE & nspected by> 38 E {Approved by>
( PASS ) ( ) ( )

No. NR8791-2



